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1 [dbiEE
2 |EHFE 8.4E+2 840.0
3 |AFR 1.5E+3 1,480.0
4 |EHER 1.2E+2 120.0
5 [FEE 1.2E+2 120.0
6 (LB 7.2E+2 720.0
7 |RER 1.2E+2 120.0
8 |ZHE 6.8E+2 680.0
9 |HHKE 4.8E+2 480.0
10 [BEER 1.1E+3 1,120.0
11 ||J/ER 1.2E+2 120.0
12 |FER 4.4E+2 440.0
13 |EREAR
IR EEIN
15 |FiaE 8.8E+2 880.0
16 [ZELE 1.2E+2 120.0
17 |BINE 1.2E+2 120.0
18 |f@HE
19 [LLEE 2.0E+2 200.0
20 |REHE 3.1E+3 3,080.0
21 (KRR 8.8E+2 880.0
22 |ERRR 2.0E+3 1,960.0
23 |EHME 1.2E+3 1,200.0
24 |=ZER 1.0E+3 1,040.0
25 [#HER 4.0E+1 40.0
26 |FRERKT
27 | KERFF
28 |EER 8.0E+1 80.0
29 |ZRE 7.2E+2 720.0
30 |[FnERLE 7.6E+2 760.0
31 [EEWE 9.6E+2 960.0
32 |[BRE 1.6E+2 160.0
33 MR 1.6E+2 160.0
34 [LBR 1.9E+3 1,920.0
35 [lWOE 8.0E+1 80.0
36 [EER 2.0E+2 200.0
37 |BIE 1.6E+2 160.0
38 |EHRE 7.3E+3 7,280.0
39 [EHIR 8.4E+2 840.0
40 [ERR 3.6E+2 360.0
M |[EER 2.0E+2 200.0
42 |RIGER 1.6E+2 160.0
43 |REXRE 3.0E+3 2,960.0
44 | KRH 8 4.0E+2 400.0
45 [EiHR 7.2E+2 720.0
46 |[ERER 4.0E+1 40.0
47 |HHER 2.0E+2 200.0
ESE 3.4E+4 34,1200
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